CLASS : IX 9/2012
SUBJECT : SCIENCE (SET-II)

Time : 3 Hrs. M.M.: 90

General Instructions :

1. The question paper comprises of two sections, A and B. You are to attempt
both the sections.

2. All questions are compulsory.

3.  There is no overall choice. However, internal choice has been provided in all ‘
the five questions of five marks category. Only one option in such questions is
to be attempted.

4. All questions of Section A and all questions of Section B are to be attempted
separately.

5. Questions 1 to 3 in Section A are one mark questions. These are to be answered
in one word or in one sentence.

6.  Questions 4 to 7 in Section A are two marks questions. These are to be answered
in about 30 words each.

7. Questions 8 to 19 in Section A are three marks questions. These are to be
answered in about 50 words each.

8.  Questions 20 to 24 in Section A are five marks questions. These are to be
answered in about 70 words each.

9.  Questions 25 to 42 in-Section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you

SECTION-A
Q1. .Write the boiling point and freezing point of water in Kelvin scale. 1)
Q2. Name the kind of plastid which is important for photosynthesis in leaves of the plants.
0]

Q3. Rajuis having three solid blocks of same size and shape made up of steel, wood and
plastic. Which one of these will have highest inertia? Give reason for your choice. (1)

Q4. Mention two properties of water to justify that water is-a liquid at room temperature.

: @

Q5. State the condition for using the method of centrifugation to separate contents of a )
mixture. State the principle involved in this process. @)

Q6. List two characteristics of cork. Name the chemical present in them and’ menﬁon its*
role, 2

Q7.

State any four natural phenomenon explained by universal law of Gravitation. (2)

L-1)



d vermicompost. ) @
. i tween compost an roduction. )
gs. @ D‘ﬁerem‘ta;:e :)eng term benefits of using manuret :105;1): fE\ctOrs that he should
e Lis
(py Mention is agricuttural produce. e should take.
o; A farmer wanti t‘_‘);ﬁ:ewtnﬁgon the control measures tha )
check before SO . .
in the following * ontainer.
o1 EXPINQ se§ exert pressure o the walls of the ¢ )
@ o2 oling. (
i oration causes ¢ olution
((b)) ?c;’:xfufy solute and solvent in the fonowmﬁ.i )S emonade
Qit. @ ks
Aerated dril hy.
’[l?ﬂentioﬁ two applications of chromat(;gr::p fzur parts. (:2\
v peat diagram of plant cell and labe ai ny o (3]
Q12. Draw 2 n brief any three roles of epidermis tlzhe lowing parts (
g13. BPA t diagram of neuront and label on 1
neal
© Ql4. Draw a

Dendrite, Axon, Cell body

| wer
e 4 time graph of a car along side and aés

Q15. study the spee

! uestions :
the follow:’.1g Q! e

- \a) Wha! type O ot is 1€ [esen(ed

B
by OA?
@) Find acceleration from BtoC. g‘

overed by the ) L

8 i ce C
© Calculate the distan — - e )
e TR

body from A 10 B.
Name the property by
* motion, or of rest.

16. virtue of which a body T
Q16. @,

15g moving along 2 straight lineon @
S

it to
. faba the ball to bring
i velodty.unlfo%?x&c?h force does the table exert on | &
table is given. : ,
rest? 10
velocil
i
5 10 15}7.57.0
——p
time {8)
nit. - .
17. @ Define momeptum and write its sl w an, opectel
Ql7. .

moving with velocities U,

e o ntinue to move with v

Two bodies of mas CO
o collide with each other and then

respectively.

'Express the
conservation 0

(@ State 1aw of conse

abov tion in the form of equat jon in Acco
bove sifuatt )83

f momenturm.
; rvation of momentum.

elocities vi:and Vs

rdmxce.g{_ }q.w of

Q18. (a) Seema buys few grains of gold at the poles as per the instructions of one of her

) friends. She hands over the same when she meets her at the equator. Will the

friend agree with the weight of gold bought? If not, why?
(b) Ifthe moon attracts the earth, why does the earth not move towards the moon?
. 3
Q19. Determine the magnitude of the gravitational force between a planet of mass
6x 10% kg and a 1 kg object on its surface. Let the radius of the planet be 6 x 10°m.
G = 6.67 x 107" Nm* kg™, . 3)
Q20. (a).,. Define lagta_tion period. Name two breeds of cattle which are selected for .crosfs'
breeding due to their long lactation: pertod, Why .are they crossed withelocat, .2 7
breeds?
(b)  Differentiate between roughage and concentrates? - 5)
OR
An italian bee variety A. mellifera has been introduced in Indja for honey production. .
Write about its four merits over other varieties. List two local varieties of Indian bee
used for honey production. What is pasturage and how is it related to honey
production? ’

Q21. () . Archit dropped a:crystal of potassium permanganate into two beakers Aand B <
containing hot water and cold water respectively.-Afterkeeping the: beakers. 7
undisturbed for some time what did he observe and why?

(b) For any “substance, why does the temperature remain constant dunhg the
change of state? )

(0 What types of clothes should we wear in summer and why? 5)

: OR '

(@) CO,is a gas. Write two gaseous properties to jﬁstify it.

) ~ Howcan we liquefy a gas?

(0 Solid CO, is also knoWn as dry ice. Why? "

(d  Write the full form of : ' h ‘

@ CNG .- @ LPG Lo
029. Withanéatlabelled diagrain to explain theprocessiused: for separating twd Htistibie:
liquids with the Help of an example. State-the principle-of this method. . )
OR

With a neat labelied diagram to explain the process used for separating acetone and
waterfrom theirmixture, List two eriterion thatmust be fulfilled for-using this process. -

923. {@ - Differentiate between average velocity and average speed. (2 points)
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g24. @ - state Newton's first and third law of motion: @ chinad -
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. SECTION-B
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’ o4 ‘
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mixture of iron filings | Q38. A figure depicting parts of a neuron is given below. The correct identification of the

. taining a ] .
When you add carbon disulphide in a tess t‘;‘;: :?tzr shaking the test tube well. m. { _labels 1, 2, 3, 4 respectively is : y 0
Q33. ond S\flphur powder, then what do you obse jution and iron filings settle down. (@) dendrite, cytoplasm, nissl granules, nerve fibre. /) 12
less SO I
;ssolves to form colour’ (b} cilia, endoplasmic reticulum, nucleolus, nerve fibre _/
(@ sulphur disso , , , —a
() somebrowh s e eVOWzd-nd iron filings settle down. rate {0 dendron, cell body, nissl granules, axon ) z BN
. a e separal )
@ yellow solution 1 fo;::dismphide,’ sulphiirand iron filings form three scpa @  dendrites, cell body, mucleus, axon !

(d)‘ after sometime; car

Q39. A girl was observing a slide of muscle under microscope. She idchuﬁed the muscle as
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sulphate is added m makes correc » > Ol
Q34. When solution otf Soiﬁgpitalie Which of the following diagra m (a)  cells are long, cylindrical, unbranched and uninucleated
: a . i i :
lmmediatelly & srecipitate? (b) cells are long, cylindrical, branched and uninucleated
identification of the precip! { }
i p {c) - cells are long, cylindrical, unbranched and multinucleated
: (@ cells are long with pointed ends and uninculeated
l - (40. A student.recorded the mass of dry.vaisins.as 4.0 g and the mass of raising after
soaking as 7 g. The percentage of water absorbed by raisins is : Uy
D (@ 20% b 10%
. C :
B . e t . © 75% @ 40%
COA ; €5 - Yellow PPt 'gﬂeﬂgg\ X
. _3White ppt - W hlEesIg' of BaSO4 ‘o Q41. While performing the experiment, to establish relationship betiveen weight of a
ST S NaC) of BaS4 ) B ! rectangular wooden block lying on a horizontal table and a minimum force required
A ® D to just move it using a spring balance. A student ‘A’ placed the block on its surface of
@) . (d)‘ franin under 2 microscope..'\“br:‘ maximuim area and noted the value of minimum force required as ‘F,’ while student
© ° bserving an onion peel stained with sairant i ‘B’ placed the block onits surface of minimum area and noted the value of minimum
@35. Rahul was ODSCHE/e " red - : " force as 'F,’. Relationship between F, and F, is:
"~ colour of the cellL.W alk-appe ©) ‘black W
(@) decpblue (@ yellow @ TF,=F b F,>F
i . i onion peel upder 2 a 1= 02 . 1> 1,
©  pinkish red ts not seen while observing the slide of an 1
036. The cellular components ¥ . ' L
compound microscope is: o) cellwall © F,<F, _ @ F= F,
OmOSOmes o lasm ‘ '
@) chf leus @ cytop mount of human cheek Q42. In the experiment to establish relationship between weight of a rectangular block
e re four operatiions for preparing & temporary 1 and minimum force required to just move it by spring balance, a student measured
ga7. e pelow = reading it on a clean slide. the minimum force required as 90 gwt. for moving a wooden block of 100 gwt. Now he"
ol ake scraping from inner side of the cheek and sp: placed a weight of 50 gwt. on the wooden block. The minimum force requircd now . ¢
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